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AN DgEd
33 NEDEHeg
ol NS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 21,500
03 A= 8,000 10,000 22,000
OXYELgos /I3 & 8,000
[ 4,000
= 4,000
202 04l 8,000 7,200 800
= 4,000
< 4,000
01 =LHAHI 8,000 7,200 800
OXgELlgolsl g2 = 8,000
= 4,000
& 4,000
301 EtE NS 1,800 1,680 120
[ 900
= 900
11 dALEEIXIE S 1,800 1,680 120
OXNSgaEos 29 1,800
s 900
s 900
308 AXIHSOIA 50,000 62,000 A12,000
[ 25,000
= 25,000
1 SISt AS A 50,000 62,000 A 12,000
O=JIa g2 2= 27EY 50,000
[ 25,000
= 25,000
oMY T dA2 2E 85,000 81,000 4,000
201 er23 | 85,000 81,000 4,000
03 A= &I 85,000 81,000 4,000
OZgedeas ot 85,000
HMES0C S X 11,985,000 25,933,000 13,948,000
= 750,000
Jl 2,900,000
=S 8,335,000
MESIC SES A (HSEA2) (HEALY) 280,000 616,000 A.336,000
403 X SHHMSAH=01H 280,000 616,000 A.336,000
01 AXISHHA =2 £ 280,000 616,000 /336,000
OX2=MZH(3MHA) 280,000
HESC SES N (SSTAH) (HEAIY) 1,405,000 3,881,000 A\2,476,000
403 MR EHSAHE01H 1,405,000 3,881,000 A\2,476,000
01 MXIHHA 22 1,405,000 3,881,000 A2,476,000
OZ2ZE=MZH(3MA) 1,405,000




AN DgEd
33 NGDEHe
CHol: MEISIC SEBIAIY K| (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MEISC S§8t X2 (M HIE) 2,900,000 8,100,000 /5,200,000
Jl 2,900,000
403 AXIEHHSAH=201H 2,900,000 8,100,000 /5,200,000
Jl 2,900,000
01 A= 2L 2,900,000 8,100,000 /5,200,000
O=2IHMSHEH (40 2) 2,900,000
) 2,900,000
MESIC =& KN (MS2HH) (M EAIY) 2,150,000 7,792,000 A5,642,000
403 MR SHHMSAH=01H 2,150,000 7,792,000 A\5,642,000
01 AXISHHA 22 £ 2,150,000 7,792,000 /5,642,000
OME23HIE (8IHA) 2,150,000
MEISOC =88 K (FHXFIE) (D EAY) 4,275,000 2,576,000 1,699,000
403 AXIEHMSA=01d 4,275,000 2,576,000 1,699,000
01 MHXIHHA 22X 4,275,000 2,576,000 1,699,000
FNXIZ=IHE (400 2) 4,275,000
MES0C S8a N (OHEMH 975,000 2,968,000 1,993,000
= 750,000
=S 225,000
403 X SHHMSAH=01H 975,000 2,968,000 1,993,000
= 750,000
== 225,000
01 AXISHHA= 2L 975,000 2,968,000 1,993,000
OIS AHE 975,000
= 750,000
< 225,000
AEIhsst he 335,260 316,850 18,410
AHotse ¢d d= 18,260 60,190 241,930
NEotseEd g 23t 18,260 60,190 241,930
201 er23| 18,260 17,690 570
01 At2teltl 16,000 14,450 1,550
OXNHIsEd Hgdal 16,000
03 A= I 2,260 3,240 A980
OXNHINsEH H3E 2,260
sEol Z2HE FX 317,000 256,660 60,340
SHEof Z2HE =& 17,000 16,660 340
201 223 17,000 16,660 340
01 At22t2lH] 17,000 16,660 340
Ogtatolf Z2ME F& 17,000
EhEol 2 OHE(HEALY) 300,000 240,000 60,000
201 er23| 300,000 240,000 60,000
03 A=Y 300,000 240,000 60,000
Oteol 28 IH= 300,000
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